MATH 095 ExaM #4 Key (FALL 2010)

la. —14

1b. Not a real number.
lc. —4

2. V402 +9%2 =41

3a. V56 =4 -14=214
3b. /900y = 30y*

3c. V25t = 55/t

4 2
3d. (/L =L
100 ~ 10

da. 1114 — /14 = 10V/14

4b. V49 -2—36-24+25-2 = 7v/2—6v2+5V2 =
6v/2

Vs VBB
o [T_1_1 VB_\3
V3T V3 V3 V33

6a. 2v5-v2+2v5-3v5 =2v10+ 30
6b. (3—5)(3+5)=4

12-2V10 6 —+/10
4 a 2

8. (2,13) and (—6,—3)

9. z-intercept is (12,0), y-intercept is (0, —8).

10a. y=3x—6

10b. This is a vertical line through = = 4.

8—4

11. m=——

—3-(-2)

12. Writing y = —%:1: + 4 (slope-intercept form), it’s
seen that the slope is —%.

13. We have m = —5 and b = 6, so y = mz + b
yields the equation y = —5x + 6.

14.

g




